SAQ5.1 - Which of the following is a cost factor in patent searching?
Select one or more:
a. Time 
b. Budget 
c. Skill 
d. Access to databases 
Feedback
Your answer is correct.
Question 2
Incorrect
Marked out of 100.00
Flag question
Question text
SAQ5.2 - Which of the following is relatively low risk?
Select one:
a. Someone illegally intercepting your search
b. Performing a patent search at the wrong part of the patent application life cycle
c. Failing to keeping up to date with changes in patent information databases
d. Missing a relevant document 
Feedback
Your answer is incorrect. The correct answer is a.
Question 3
Correct
Marked out of 100.00
Flag question
Question text
SAQ5.3 - Which of the following can be used to solve foreign language problems?
Select one or more:
a. Automatic translation 
b. Searching using classification systems 
c. Finding patent family members 
Feedback
Your answer is correct.
Question 4
Correct
Marked out of 100.00
Flag question
Question text
SAQ5.4 - Which of the following qualities is the least useful to a patent searcher?
Select one:
a. Ability to think laterally
b. Perseverance
c. A desire to know the answer
d. Impatience 
Feedback
Your answer is correct.
Question 5
Correct
Marked out of 100.00
Flag question
Question text
SAQ5.5 - Which of the following is important when preparing to do a search and deciding what to search for? 
Select one or more:
a. Thinking about the objectives of the search 
b. Getting straight on with the full search without delay 
c. Considering the type of search to do e.g.: patentability, validity, freedom to operate 
d. Taking stock what you already know eg prior art, inventors’ names, patent numbers 
e. Looking for any useful classifications 
f. Thinking about which database(s) to search 
Feedback
Your answer is correct.
Question 6
Partially correct
Marked out of 100.00
Flag question
Question text
SAQ5.6 - Which of the following do you agree with?
Select one or more:
a. If it’s a choice between keywords and classifications, keywords are always best 
b. If it’s a choice between keywords and classifications, classifications are always best
c. It’s not a good idea to combine keywords and classifications in a search
d. Searching with classifications can avoid problems with typos and different spellings 
e. Searching with words is more flexible than searching with classifications
Feedback
Your answer is partially correct. The correct answer is d and e. 
You have correctly selected 1.
Question 7
Partially correct
Marked out of 100.00
Flag question
Question text
SAQ5.7 - What should you do if your search gets thousands of hits?
Select one or more:
a. You just have to read them all
b. Try limiting word searches to the abstracts or titles
c. Try restricting the search by adding more keywords or classifications to the search query 
Feedback
Your answer is partially correct. The correct answer is b and c.
You have correctly selected 1.
Question 8
Incorrect
Marked out of 100.00
Flag question
Question text
SAQ5.8 - Which of the following problems is potentially the “most” dangerous?
Select one:
a. Typing errors and spelling mistakes in the database
b. Wrongly applied classifications in the database 
c. Faulty search syntax i.e. a mistake in your search query
Feedback
Your answer is incorrect. The correct answer is c. 
Question 9
Correct
Marked out of 100.00
Flag question
Question text
SAQ5.9 - What is RSS?
Select one:
a. A system for automatically ranking the documents you’ve found, with the most relevant first
b. A system for automatically ranking the documents you’ve found, with the most recently published first
c. A system for automatically updating searches 
d. A system for automatically translating foreign language documents
Feedback
Your answer is correct.
Question 10
Incorrect
Marked out of 100.00
Flag question
Question text
SAQ5.10 - Which of the following has the most effect on the quality of a search?
Select one:
a. Budget
b. Time available
c. Resources i.e. available databases and search tools
d. Subject matter - whether simple or complex; mature or just developing
e. Search terms available for a particular search, especially words and classifications 
f. The searcher and his or her knowledge and methods
Feedback
Your answer is incorrect. The correct answer is f.
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Top of Form
Question 1
Incorrect
Mark 0 out of 1
Flag question
Question text
Please give the best answer.Which one of the following is not a cost of patent searching?
Select one:
time
money
lack of access to data
lack of access to data in one database 
Feedback
The correct answer is: lack of access to data
Question 2
Correct
Mark 1 out of 1
Flag question
Question text
Please give the best answer.Which of the following does not present a particularly high risk when searching patent information ?
Select one:
someone intercepting your search string on an secure search system 
This is the best answer
performing a patent search at the wrong part of the patent application life cycle
not keeping up to date with changes in patent information databases
not finding a relevant document
Feedback
The correct answer is: someone intercepting your search string on an secure search system
Question 3
Correct
Mark 1 out of 1
Flag question
Question text
Please give the best answer Which of the following options is not considered to be a way to overcome language barriers?
Select one:
use of automatic translation
use of classification systems
relying on patent drawings 
This is the best answer
use of patent family equivalents
Feedback
The correct answer is: relying on patent drawings
Question 4
Correct
Mark 1 out of 1
Flag question
Question text
Please give the best answer Which of the following qualities is the least useful to the patent searcher?
Select one:
ability to think laterally
perseverance
a desire to know the answer
impatience 
This is the best answer
Feedback
The correct answer is: impatience
Question 5
Incorrect
Mark 0 out of 1
Flag question
Question text
Please give the best answer Which of the following is the least likely example of how Commercial Providers add value?
Select one:
removes duplicate data 
provides the most up-to-date legal status data
provide natural language processing
provides a secure site
Feedback
The correct answer is: provides the most up-to-date legal status data
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